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1= 286, 756, 145
TREET
1= 97, 324,028
THWEEL 55 THEE1) 84,830.00m3, FS5THEQ) 691.00m 3., ¥'S5 TREMm (L @A) HER 1,00
1= 97, 324,028
T
1= 189, 432,117
HREREL B ERR 1.00X, BELSHERE - BE 721.00m, HHERE - X 721.00m, 70—2EFHE - HE 279.00m,
s 15, 225, 398 HERSELRSF 8.008
TEMERT TEMER 85,521.00m 3, TiEfMBEK 1.00=
1= 21,236,414
BT TEREXBL 85,521.00m 3. EREEMHME 1. 00K
1= 146, 970, 305
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1= 89, 815, 657
HEBERZE (BL) Elfii - Z LB, SXEBRGLERE. ERE. 28, BEEE
1= 64,237,718
HEBEREE (%)
1= 24,811,722
HBEREREE
1= 766, 157
HEEHE
1= 76,971,276
TER(E
1= 453,543,078
— R EEE
1= 62, 715, 505
BRI E
1= 181, 417
TE{E%
1= 516, 440, 000
¥ E I EMHE
1= 516, 440, 000




